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QUESTION 1

Which three tasks can business users perform using AEM OOTB functionality/components/plugins? (Choose three.)
A. Provide ratings for a particular page

B. Present and sort order status client side

C. Customize content using Twitter profile data

D. Display a list of completed workflow items

Correct Answer: ACD

QUESTION 2

Which three statements about Multi Site Manager, Blueprint, and Live Copy functionality are true?
A. Live Copy of a particular Blueprint inherit Rollout configuration is configured on a Blueprint

B. Immediate children of Multi Site Manager (MSM) Blueprint root page are language branches.
C. Blueprint can have one or more Live Copies.

D. Live Copy can inherit from multiple Blueprints.

Correct Answer: C

QUESTION 3

A digital publisher is migrating to AEM. The primary goal is to provide a more user-friendly page authoring interface. The
current content management system has been built in house by staff developers, runs on a top of a MySql database,
and uses forms for content editing. Discovery meetings are being held with the business owners and content authors.
What is the most significant and relevant conceptual change from the current CMS?

A. AEM uses a hierarchy-based repository.

B. AEM does NOT use a relational database.

C. AEM allows authors to drag-and-drop components to build pages.

D. AEM is written in Java.

Correct Answer: C

QUESTION 4

A news company uses AEM to manage content. The company initially plans to provide news only to subscribers within
Australia. Six months later, the company expands into the wider Asia region and requires Chinese and Korean language
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options. The architect must create a solution for a CMS with a multi-lingual requirement.
What is the most important factor for the architect to consider?

A. Creating a new language location for the dictionary

B. Translation workflows

C. Maintaining a common look and feel

D. Site structure

Correct Answer: A

QUESTION 5

In which type of architecture diagram would the architect be most likely to list the IP addresses of individual servers?
A. Physical

B. Logical

C. Conceptual

D. Data Flow

Correct Answer: A
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